Turing and Noether Home learning 10.1.14

When changing between units of measure you need to decide whether to x or ÷ 10, 100 or a 1000.
Fill in the table below remembering that 10mm = 1cm, 100cm = 1m, 1000mm = 1m

Fill in the spaces in the table, so that each object has its measurement in mm, cm and m.
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	Object measured
	millimetres
	centimetres
	metres

	book
	
	15.6cm
	

	table
	
	
	1.4m

	pencil
	58mm
	
	

	board
	
	
	2.05m

	rope
	
	432cm
	

	chair
	679mm
	
	

	room
	
	
	12.43m

	box
	303mm
	
	

	picture
	
	75.8cm
	



